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14004 PART A 90 MINUTES

Fill in the blanks with the most appropriate options:

|8 She affixed a stamp ------ the envelope.

A) over B) above ©) on D) in
4, As it was a holiday, there were ---------- students in the campus.

A) a little B) little 0] few D) less
3. The teacher, along with her students, ---- going to the park.

A) are B) is

C) were D) have been
4. Bring me a pen, ----------- ?

A) you will B) do you

O are you D) will you
5. The word ‘furtive’ means

A) bold B) stealthy

©) careful D) loving
6. She wrote the poem, ------- 7

A) didn’t she B) did she

©) isn’t it D) wrote she
7. This train stops ----------- every station.

A) on B) in &) over D) at
8. ‘To give someone a hand’ means.

A) to lift someone up B) to shake hands with someone

£ to help someone D) to pull someone’s hand
9. They have been living here ---------- three years.

A) for B) since <) during D) in
10. John is ------------- honest man.

A) a B) an C) the D) one
Bl Mary was on the way -------- home.

A) to B) for

©) towards D) no preposition required
| | e used cup.

A) an B) the

0] a D) no article required
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i The sweets were distributed ----------- the children.

A) between B) for C) to D) among
14.  They ----------- him for ten years.

A) knew B) have known

6] were knowing & D) have been knowing
15 [ e him last week.

A) met B) have met

@) had met D) would meet
16.  Choose the antonym of ‘spiritual’

A) mental B) physical

O intellectual D) psychological
17. His mother is a cousin of ---------- .

A) ours B) our’s O us D) we
18. Susan ---------- to apologize for what she has done.

A) must B) used C) should D) ought
19. Ramu ------------ does any hard work.

A) hardly B) often C) sometimes D) fairly
20. Choose the correctly spelt word from the following:

A) begining B) iminent 0) cartridge D) dispell

Read the passage carefully and answer the questions 21-25 given below:

In olden times, man’s worst enemy was nature. He lived under the continual threat
of famine, pestilence, storms on the earth and in the sea. A summer could bring death to a
large population and winters were menace. Mountains were like a barrier between people
of different countries, a sea was less a highway than an impassable division. If we go
back to the pages of history, we find ample proof that man, in the distant past, did not
worship God, but either the sun or the winds or the sea. Fear urged him to worship these
natural forces.

Today the scenario has changed a lot. Though nature, still an enemy, is an enemy
that is always unpredicted and unpredictable, yet can be conquered to a certain extent.
Modern agriculture assures us ample food supply. Modern transportation has reduced the
distances between countries. Modern medicine and sanitation allow dense populations to
cover the ground without risk of pestilence. True is the fact that certain severe natural
disasters cannot be avoided even now. Against earthquake, flood and hurricane man has,
as yet, devised no adequate protection. The Tsunami tragedy has once again given man
shudders. The tragedy has become a nightmare for humanity. Now the scientists’
boastings seem to be cruel jokes. The tragedy has rendered man helpless and hapless with
no protection from anywhere to heal his wounds. We are forced to ask the question, “Are .
we safe on this planet?”
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The word ‘pestilence’ means :

A) drought B) infectious disease
6] small pox D) cholera

In olden times, man worshipped the natural forces because

A) his worst enemy was nature

B) he lived under the continual threat of famine

C) nature terrified him

D) he did not worship God

The scenario has changed a lot because

A) nature is still an enemy

B) nature is unpredicted and unpredictable

) modern agriculture assures food supply

D) nature can be conquered to a certain extent

Which of the following is a disaster that can now be avoided?

A) hurricane B) Tsunami
)] famine D) flood
Which word in the passage means ‘unfortunate’?

A) menace B) hapless

C) continual D) impassable

In India, ‘Secularism’ means

A) The State should have a religion of its own
B) The State recognizes any religion as a State religion
©) The State does not recognize all religions

D) The State treats all religions equally

What is the meaning of Amicus Curiae?
A) A senior Judge B) A friend of the court
6] An impartial lawyer D) A senior advocate

Article 21 A of the Constitution deals with
A) Right to life and Personal liberty
B) Right to Information

# Right to Education

D) Right to work

What is the punishment prescribed for violation of any of the Fundamental Duties
enlisted in the Indian Constitution?

A) No punishment B) Cancellation of citizenship
)] One year imprisonment D) Cancellation of voting rights
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Under the Indian Constitution, the election of the President must be held in
accordance with the system of:

A) Proportional representation from Members of Parliament

B) Proportional representation from Members of Legislative Assemblies
C) Proportional representation by means of single transferable vote

D) Proportional representation by means of collective votes

When a person apprehends arrest on a non-bailable offence, where can he apply
for anticipatory bail?

A) Supreme Court only B) High Court only |

)] Any court in India D) High Court or Sessions Court

The basic principle of Parliamentary form of Government is:
A) The principle of collective responsibility

B) The principle of common welfare

O The principle of community welfare

D) The principle of keeping the democratic ideas

A person who commits a tort is called
A) Tortfeasor B) Torter
)] Tortoise D) Criminal

The power to prorogue the House of Parliament is vested in

A) The President B) The Prime Minister
C) The Speaker D) The Cabinet
Pleadings are the Statements presented by

A) The accused before a criminal court

B) The prosecution before a criminal court

0] The plaintiff and a defendant in a law suit

D) The witness in a case

“~

Sedition is an offence against

A) The State B) The Religion

0] Property D) Reputation

Tortis a

A) Criminal wrong B) Public wrong

@) Civil wrong D) Political wrong
Easement is a right which the owner of a landed property acquires

A) To use the land of another for the beneficial enjoyment of him
B) To use his own land for the enjoyment of others

£ To use his land for any establishment

D) To give his land for any government establishments
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Dying declaration is a statement made by:

A)
B)
©)
D)

An accused in a murder case
The court about the murder of the deceased
The witness in a murder case
A dying person about the cause of his death

Deponent is a person who

A)
)

Makes a depositin a bank  B) Makes an affidavit
Gives a vakalath D) Defends a person in a court

Indemnify means

A)
B)
C)
D)

Save a person from loss or harm
Identify the accused in a criminal case
Identify the witness in a criminal case
Save the accused in a criminal case

‘Receiver’ is a person appointed by the court:

A)
B)
)
D)

For receiving the benefits in a property under litigation
For the management of stolen property under litigation
For the management of government property

For the management of property under litigation

The term ‘Alibi’ means-

A)

B)
C)
D)

The plea in a criminal law that the accused was elsewhere when the crime
was committed

The allegations raised against the accused in a criminal case

Alien is also a party in a case

The plea in criminal case that the accused cannot be found out

The appropriate authority for filing a complaint against a company for damages
amounting to Rs. 150000/- under the Consumer Protection Act

A)
B)
C)
D)

National Consumer Dispute Redressal Forum
State Consumer Dispute Redressal Forum
District Consumer Dispute Redressal Forum
Taluk Consumer Dispute Redressal Forum

When two or more persons are fighting in a public place causing disturbance, they
are said to have committed:

A) A riot B) An affray

C) Battery D) Unlawful assembly
Grave and sudden provocation is an exception to

A) Murder B) Culpable homicide
©) Manslaughter D) Rape

A sum of money paid as compensation for loss or injury:

A) Damages B) Legal compensation
O) Arbitration D) Fine
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Defamation is
A) A crime B) A tort
C) Neither a crime nor a tort D) A crime as well as a tort

An intentional physical contact without consent of a person so contacted that
results in bodily harm or loss of sense of dignity of the person is called

A) Tort B) Assault
O Battery D) Mayhem
‘Caveat’ is: :

A) An application filed in the Civil Court by a person prayiﬂg that no order be
passed without notice to him

B) An application filed in a Criminal Court for condemning the delay in
appearance
C) An application for execution of a decree

D) An application filed during the pendency of a suit

The name of the civil rights organization which filed a PIL in the Supreme Court
of India, which resulted in the issue of a directive, on September 2013, by the
Court to the Election Commission of India to introduce a NOTA button in the
Electronic Voting Machines in all future elections:

A) Comimittee for the Protection of Democratic Rights

B) Association for Democratic Rights

O Indian Civil Liberties Union

D) People’s Union for Civil Liberties

What is the maximum penalty for ragging in educational institutions under the
Kerala Prohibition of Ragging Act 19987

A) 4 years rigorous imprisonment

B) 2 years imprisonment with a fine of Rs.10,000
O 3 years imprisonment with a fine of Rs.5000

D) 6 months imprisonment with a fine of Rs.50,000

The U S has charged five military officers of a country with hacking into private
sector American companies in a bid for competitive advantage. Identify the
country from the following.

A) China B) Russia
O) Iran D) India
How many seats did the BJP win in the 2014 General Elections?
A) 312 B) 282
O) 258 D) 246
Who is the Chairperson of the Kerala Human Rights Commission?
A) Siby Mathews B) Justice V.R.Krishna lyer
© Justice K.M. Joseph D) Justice J.B.Koshy
6
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The Central Bureau of Intelligence was described as “a caged parrot” by:
A) Mamata Baner;ji B) BJP
O Rahul Gandhi D) The Supreme Court of India

Article 370 of the Indian Constitution is a much discussed topic during the 2014
General Election campaign. This Article deals with:

A) Rights of LBGT

B) The Special Status given to Jammu and Kashmir

154 Protection of Women and Children

D) Powers of the Election Commission

The Chief Minister of Gujarat
A) Anandijyoti Patel B) Narendra Modi
4] Anandibai Joshi D) Anandiben Patel

Preet Bharara is

A) Secretary General, WTO

B) Indian representative in the UN

O) A famous US Attorney of Indian origin

D) Kerala’s Attorney in the Supreme Court in the Mullaperiyar case

Which country has recently requested India to ‘rise quickly’ in the South Eastern
region to counter China’s assertiveness in the South China Sea?

A) Vietnam B) USA

C) Japan D) Singapore

In the latest Forbes Global 2000 list of companies, which company from India is
listed first?

A) Infosys B) Tata Steel

O Reliance Industries D) State Bank of India

Which African country, in May 2014, purchased 3400 Electronic Voting
Machines (EVMs) from India for its Presidential election?
A) South Africa B) Kenya

0] Namibia - D) North Sudan

Yingluck Shinawatra, was ordered to resign the office of the Prime Minister by
the Constitutional Court of the country where she was the Prime Minister. Identify
the country.

A) Indonesia B) Thailand

O Taiwan D) Vietnam

In May 2014, the Supreme Court of India allowed to raise the water level in the
Mullaperiyar Dam from:

A) 135 feet to 140 feet B) 132 feet to 146 feet

O 140 feet to 146 feet D) 136 feet to 142 feet
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The British Queen conferred the honour “Knight Grand Cross of the Order of the
British Empire” on which one of the following Indians, in May 20147

A) Nandan Nilekani B) Manmohan Singh

) Ratan Tata D) Anil Ambani

The Governor General of the English East India -Cofhpany who devised a policy
known as the Doctrine of Lapse for annexation of Indian States:

A) Lord William Bentick B) Lord Chelmsford
©) Lord Mountbatten D) Lord Dalhousie
The objective of KAAPA, an Act of the Kerala Government is
A) Prevention of anti-social activities

B) Protection of women and children

O Prevention of cruelty to animals

D) Prevention of terrorist activities

The film Winter Sleep, which won the Palm d’Or Award in the 2014 Cannes Film
Festival, is a film from which country?

A) France B) Turkey

C) Iran D) Canada

The scientist who first put forward the theory that the Sun is the centre of the solar
system:

A) Charles Darwin B) Isaac Newton

C) Albert Einstein D) Nicholas Copernicus
Sphygmomanometer is used by:

A) Airplane Pilots B) Physicists

c) Physicians D) Meteorologists

The headquarters of the European Union is in:
A) Amsterdam B) Paris
©) London D) Brussels

Nokia’s handset business was bought by which one of the following?
A) Intel B) Microsoft
©) Lenovo D) DOCOMO

The judges of the International Court of Justice are elected by:
A) The Supreme Courts of U S A, Russia and U K

B) The U N General Assembly

C) The U N General Assembly and the Security Council
D) The Legal Advisory Panel of the UN




RuPay, India’s indigenous card payment network system was developed by:
A) ICICI

B) Punjab National Bank

©) Master Card

D) National Payment Corporation of India

Who is the author of Kathayillathavante Katha, an autobiography in Malayalam
which won the Kendra Sahitya Academy Award 20132

A) M.N.Paloor B) K.Satchidanandan

C) Sethu D) Paul Zachariah

If one-quarter of one-third of a land is sold for Rs. 2 lakh, what is the value of the
land?

A) Rs. 8 lakh B) Rs. 24 lakh

©) Rs. 12 lakh D) Rs. 36 lakh

In the meeting of a committee, each member gave shake-hand to the other
members. If the total number of shake- hands were 10, how many members were
present in the meeting?

A) 4 B) 5 O) 6 D) 7
If 20 books cost Rs. 145/-, what do 28 books cost?

A) Rs. 193 /- B) Rs.198/-

O Rs.203/- D) Rs. 205/-

Persons A and B can do a piece of work in 6 days and A alone can do it in 10
days. In how many days can B alone do the work?
A) 15 B) 12 ) 10 D) 14

How long will a train 70 m long travelling at 54km/hour take to pass through a
bridge of 80 m long?

A) 8.5 seconds B) 10 seconds

O 12.5 seconds D) 11 seconds

Complete the series: 1, 4, 9, 16, 25, 36, -----

A) 47 B) 45 0) 48 D) 49
Find the missing term in the series 2, 6, 11, ----, 24

A) 18 B) 17 L) 16 D) 15

The value of /729 is
A) 3 B) 6 0] 9 D) 4

The traffic lights at three different road crossings change after every 45 second, 54
second and 60 second respectively. If they all change simultaneously at 8:09:01
hours, then at what time will they again change simultaneously?

A) 8:18:01 hrs B) 8:16: 01 hrs

C) 8:18: 02 hrs D) 8:16: 02 hrs

9



85. Sum of the digits of a two-digit number is 10. If the digits are interchanged the
number is decreased by 54. Then the number is
A) 64 B) 73 0) 82 D) 91

86. A is 3 years older to B and 3 years younger to C, while B and D are twins. How
many years older is C to D? :

A) 4 B) 8 O 6 D) 9
87. MATCH is related to WIN in the same manner as EXAMINATION is related to
A) PREPARE B) SUCCESS
O WRITE D) APPEAR
88. Insert the missing number
3|6 8
8
4
A) 6 B) 7 ) 8 D) 9
89. A certain number of boys are sitting in a row. Boy A is sitting fourteenth from the

left and boy B is seventh from the right. If there are four boys between A and B,
how many boys are there in the row?

A) 22 B) 24 &) 25 D) 23
90. Which year will have the same calender as that of 2013?
A) 2017 B) 2018 ) 2019 D) 2020
a1. If the first day of a non-leap year is Sunday, then the last day of that year will be
' A) Monday B) Saturday
6] Sunday D) Friday

In questions 92 and 93, choose the pair of words that expresses a relation similar to that
expressed by the given pair.

92. DOCTOR : STETHOSCOPE

A) Pencil : Eraser B) Typewriter : Paper
O Gun : Hunter D) Carpenter : Saw
93. WATER : ICE
A) Rain : Flood B) Sea : Water
@) Fire : Ice D) Steam : Water
94. Pick the number which does not belong to a group of the other three numbers
A) 3 B) 2 O 6 D) 9

10
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A woman introduces a man as the son of the brother of her mother. How is the
man related to the woman?

A) Son B) Nephew

©) Cousin D) Grandson

Pointing to a girl, Abhilash says “She is the only daughter of my father-in-law’s
only daughter”. How is Abhilash related to the girl?

A) Brother B) Father

[ Husband D) Father-in-law

If HOTEL is coded as 55, how will you code HOSTEL? \
A) 73 B) 79 0) 76 D) 72

A post man walks 8 km in the North direction. He turns and walks 5 km East and
turns right and walks 8 km. Then he turns and walks 5 km East. How far is the
postman from the starting point?

A) 26 B) 13 O) 21 D) 10

Which of the following diagrams indicates the best relation between Women,
Mothers and Engineers?

A) B) 0) D)

@ ¥

In a pollution control board, engineers are represented by a circle, legal experts by
a square and environmentalist by a triangle. Who is most represented in the board
as shown in the following figure?

.

A) Legal Experts

B) Engineers with legal background

C) Environmentalists

D) Environmentalists with engineering background

11
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